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() Answer all the guestions.

(i) in each of the questions 1 to 40, pick one of the altefu
or most approprigie.

(i) Mark a cross (X) on the nmumber corrgsponding do your choic

(iv) Further instructions are given on the back of thesgnswer sheet. Follow them earefully.
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atipgse W (2), (3), (d) which you consider 1s correct
S S=¥ J

e fu the answer sheet provided. .

1. Which of the following can be classifiédvag data in comparison with information? =
(1) Average monthly temperature in the gity "of Anuradhapura.
(2) A pie chart showing perceniage of male and female students in a school.
(3) Last four digits of 2 residential telsphone number.
(4} Maximum mark obtained for Maghematics by Grade. 10 students.

2. A student prepares a report and ‘saves info a per
then copies the report to, & portable storage device
is most appropriate to repregent device 1 and device2 respectively? .
(1) Main Memory ‘and Flash Memory - (2) Hard Disk and-‘Compact Disk (CD)
(3) Main Memory and Compact Disk (C) (4) Hard Disk and Main Memory

son has takén a photograph using a digital camera, Subsequenily he shows t
amera, In this scenario, the camera serves as alan
(2y Ouiput device only.

(4) TInput/Qutput device.

L

A per
his friend$\using the display of the ¢
(1y Input device only.

(3 “@ommunication device only.

4, “Consider the following symbols:
AL #
B - @ ' RN
o - & ' -

Tt ) . ; 0 —_
Which of the above iz a valid syfibol/symbdls b ua email nddvess!

5. What is the equivalent value for decimal value 1257
(1) 01011101, (2) 01111101, (M 174, ' 4 1B,

6. What value does the symbol ‘C’ represents in the hexadecimal number system?
[t By 14 : - -
(i) 1011, (2) 1101, . (3) 14, 4) 13,
7. Two computers, A and £ have n‘;@moryi;;
statement tegarding their memory capacities?
{1y Computer A has a higher memory capacity - than Compurer B.
(%) Computer B has a higher memory capacity thai Compuier A.
{3} Both have equal memory capacities.
{4) Memory capacities of the two compuiers cannoi be compare
are used. ‘

maneqi storage device (device 1) inside the computer. He
ice (device2) to be given to a friend. Which of the following

he photograph to one of

(1) A only 2y B only Lo {3y T only My A and B oonly

‘capacifies of 1 (B and 1024 M res ectively, What iz the dgrrect
3t poctively the, dorres

foe

d as ditfferent wnits of measurement

;
3
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[see page two
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8.

10.

11,

12,

14,

- of the following is a valid bit pattern in BCD? _
(1) 0011 (2) 1o (3) 1100 #) 1101 d

" what value would be displayed in cell A9?

i6.

() Cul+S i 4) Cul+B i

17.

Saman has an electronic presentation of size 10,256 bits. What is the minimum capacity of a portab}e flask
drive that can be used for storing this file? -
(1) 256 Bytes (2 1KB (3) 1MB (4) 1GB

Binary Coded Decimal (BCD) uses four bits to represent each digit in the decimal number system./Whith

If 1000001, represents A in ASCII, which of the following is represented by 100011%,7

(1) D (2) E 3) F “4) G

A merchant sells a pack of three items for Rs 75. The pack contains a cup(A) and‘a saucer (B) The customer
can select either a plate (C) or a dish(D) as the third item. Which of the following Booiean expression represents

the above scenario?
(1)) (A AND" B) AND C AND I _ (2) A AND:B OR'C OR D
@ A AND B AND (C OR D) 4y AORB OR (C AND Dy

If the final output of the given logic circuit, D is 1, which of the followmg represents the corresponding

values. for the inputs A, B and C respectively?
(1) A= =1, C=1 '

1, B :
() A=0B=1C=0 N _ ——{>0—D
. © e

(4) A=0B=1 C =
The Operating Sybhﬂ‘u

A - fills the gap between the hardwase and the user by providing an interface.

B - provides Internet facilities to the, usersfor communication and access to information,

C -~ manipulates. files and folders.
Which of the above statements are, orrect?
(1) A and B only (23 A and) Cfonly (3) B and C only (4) A]I A, Band C

.

Part of a spreadsheet isgfhown imwthe given diagram:
If formula min(Al:A8) 98 Wwritten in cell A9,

v

y 70
) 50
(3) 40
)y 15

P s
I

=k TE I I CAT

ow !

Whichfof the foliowing staternents is eorrect vegarding spreadsheet software?

(1) Intersection of a oo and o column is known as an absolute address.

{2 Cell address i repmsemud by the combination of column name and row numbé’i‘

{3) Cell entries can only be Jeft aligned in .Jpleaduhee[s
{4} Conmiszni of a r{:1= sanfict aem i another cell. , & :

e »“_ﬁ

A word processing software is asad 10 create a file named Textl. rif. After editing the ‘document, iser wanis
to save this file as Backupl.txr. Which of the following word processing coman and/commands can be used

for this purpose?

(1) File—>Save ‘ P (2) File —> Save As

{ ;

Which of the following s}atf‘mems is comect regardmg tables used in word proc:essng software"

(1) Twe or more'cells can be  merged.
2) It is not possible to delete a column or a row.
(Y Column width oan be adinsted while row hewht cannot be adjusterd.

(4) A cell cannot be split,

3

[see page ihiee
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/8. What featui‘é of electronic presentation software can b

left to right?

(1) Slide layout (2) Slide transition

19. Which of the following is correct regarding the primary key
(1) It must be unique. :
~(2) 1t must be of numeric data type.

3y It can be empty.
(4) Tt must be of text data type.

e Use the following table containing information about books

A.S. Homby
B.M. Willett
A.S. Homey |

L. Roberts

20. Select the correct pair of value
the above table.
1) 4.6 o

.

(2) 5,6 (3) SO
21. Which of the following is most suitable as the pri
(1) Title (2y Price

i

@ Consider the given flowchart 10 answer questions 42 and 23.

22. Which of the following is correct reglrding the flowchart?
(1) It repeats more than three times.

2y It stops when 3 is entered for nuim.

(3) It displays the total wifen the‘eernter is 3.

(4) Tt gets 4 numbers froneg useh

23. Which of the followinghgan be used (o replace
sAdd mum to total” in the flowchart?

(1) num = num + total

(2) total = npm * total

(3) total = total + num

(4) total = total / num

B

(4) Ifée']?heﬁi construct cannot be nested.

s5  Consider the, following statements regarding operators i &

1'35. -
7 - An expression may have more than one operaiof
¢ . Comparison operators COmMparc two expressions.

Which of the above slalements are correst?
(1) A and B only () A and C only

A 5

Carl

(3) Animation

T b
Author Edition

\ U.\A

U S e

s that represent the number of greords an

(3) ISBN Number

24, Which of the following statements is correct regarding control
(1 Statement/ staternents within an If-Then construct is exccuted when thoe condition is false.

(2) _For'—f\:fexz loop can be used when the nuymber of repetitions is
(3) If-Thdyg construct cannot be used withint a For-Next loop. L
i

v
4

(4) Slide design

in a relational database table?

- 5 v

to answer questions 20 ard 21y

L

Publisher ” Price
Oxford University,Fress 2000.00
Heinemanfi=Rhilip 2000.00
Oxford Uniyersity Press 180000
MéeGraw-Hill 4000.00

4y 6,3

marygkey of the above \\fa‘ble'?
(4) Author

Set counter (O 210
Set total to zer0

Giet a number nurn from the user

rm Add pam to fotal ’
Add | to counter i

L___-’___T——-— ——d i >
//\ )

- \-_\
- ) Yes
Qcounmr less than 37_.
e ./-/‘/
-\"'I -
| No
— ~
L playtetat
B3 7
A N oL J

-_._+___-.—/‘
stmctures used in algorithms?

known in advance.

%
&
RN

DrOgEfmIning langhsge

An opersfor performs an operation 0n. one of snove variables.

R TR S
[see page four

d number of fields respectively ofl
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26. Considér the following types of computer programining languages: "
A -~ Machine languages : :
B - Assembly languages : - R
C - High level languages h

order? K
(1) A B C. " (@ B, C A (3) C. B, A (4)e€, ANB.

27. Which of the following statements is correct regarding a compiler and an interpreter?
(1) An interpreter translates all statements into machine language instructions _before program execution,
(2) A compiler translates each statement into machine language instructions @0e.at a time during the program
execution. .
(3) A compiler peeds an interpreter for programn execution.
(4) An interpreter translates each statement into .machine language ipStaittions one at a time during the

. . program execution.

28, The covivvieiinenns Cerereneen ..... phase of the System_Development Life Cycle (SDLC) is concerned with system
functionality, meecting user’s requirements, effective use of resources, and the cost effectiveness.

‘Which of the following is most suitable for filling the above blank?
{1} zystern analysis {2y systom design @ “tmplementation {4) feasibility study

50, Wihich of the following bost desciibes the digeqd implementation as used Q- system development?
(1} The new"system is introduced alongside the existing system:.

(2) One component is implemented and the others are implemented if it is successful.

(3) Operation of the manual systegiis, stopped and the new system is introduced.

(4) The new system is implementeddn parts.

30. Consider the following statémients regarding system development activities:
A - Making changes to Hardware and software. -
B - Correcting deteSied egrors in the system after deployment.
C - Introducin@ new USEr requirements into the system. .
Which of the above activities are involved in the maintenance phase of a system development life cycle?

(1) A and Byonly (2) A and C onl_y- (3) Band Conly  (4) AllA B and C

31. A swdent needs t& send a digital copy of a printed photograph to a friend living abroad.
Consider the following procedures: .

A ¢ Taking 4 copy using a digital camera, saving it as an image file then sending via email.
B Sending the photo using normal post. ‘ .
¢ -%Scanning the photograph, saving it as an image file then seading via email.
Which of the above procedures is/are suitable for sending the photograph? '
)" A ouly {2y D only {33 A and € only {4 B and C only
3 Consider it following siaterments relaiing o the Internet: kS
A - Bach machine requires a unigne address called an IP 10 commc_.lftp the Internet,
B -  WWW chmprises of a collection of electromic documents.
(0 F An HEML document 1 is accessible through the Inlernct o called a wobpage,
Which of the above statewnents are correct? e
(1) A and B only (7 A and £ only (3) B and C only 4y ANl A, B and C
33. Two studenis access the same websiie using iwo machines in their school compuier laboratory. The two
computers must have different: » ' o
{1) Web bg'fowsers, {(2) TP addresses. |
(3) InternebzService Providers. ' {4y Operating Systefh;

. <

- w -
What s the domain name of the URL hiip:fwww.silanka. lkiweb/guesifwelcome?
(1) www.aritankalk (3 srilankalk {(3) /web/gnest/weledme . (4) Wk

Which of the following shows the order of generations of the above programming ladguages in ascendingk

L
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_msider the following statements irc:gau'ding multimedia editing
A - Layers can be used to draw and edit.objects in one layer without affectmg another - layer

B -Key frame can be used to create or edit animations.
C - Speed of a graphics ammatlon can be changed using the frame rate.
Which of the above are correct? . |
(1) A and B only {2} A and C only (3) B and C only 4) Al A, B, and C
36. Consider the .followi_ng'special effects: ~ ' '

A - Adding echo
B - Changing speed
C - Changing volume
Which of the above special effects can be used in editing sound files? \
(1) Aand B only {(2) A and C only (3) B and C only 4 Allgd, B, and C

37, Conmdcr the following statements regarding HTML tags.
A - <hr>» defines a horizontal rule.
B - «li> creates_an ordered list,
C - <p> creates a page break.

Which of the above isfare correct? )
(1) A only ' (2) C only (3) A and B oply 4y A and C only

38, Consider the following HTML stalcments:
<dI> ‘ o : ‘ ~
<dt> Rice </di> ' : B
<dd> White Rice </dd> | . ' J
<dt> Tea </dt> ‘
<dd> WMilk Tea </dd>

</di> A
The output of the above HTML code seghent would be: .
(1) Rice (2) Rice;s (3) & Rice (4) Rice
White Rice _ White Rice s White Rice White Rice
S Tea . Tea 4 s Tea . Tea
"Milk:Tea . Millkk Tea e Milk Tea - - Milk, Tea

39. Consider the following three statements:
@ ......... is ‘aqfinique name that identifies a website.
..... is a unigue address of a file that is accessible on the Internet.
AL T i, a unique number that identifies a machine on the Internet.
Which of theyfellowing correctly replaceo Oand Orespecﬁvply‘?

(1) Uniform Regsetrce Locator (URL)," IP Address, Domain Name
(2) Uniform Resource Locator (UTRL), Dsmam Name, IP Address

(3) Domain Name, Uniform Resource Locator-(URL), IF Address s B

(4) BDomain Mame, IP Addreqs U-li/fcrm Resource Locator ((UR1.)

40, Conmder the following statements;
A - Firewalls are only available as hardware and does not exist in the form of software.
B - A computer worm is a self-replicating malware compuier program which spreads through a cumputm

network,
C - Spamis the use of electronic mqsaagmg systems o send large voiumes of" unwanted emallt‘f
indiscriminately. 1 ity
Which of the above is/are comrect? ~ 3 . PR
(1) C only (2) A aid B mly (3) A and € only {4) B and € only ,-

[see page six
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s# . Answer five questions only, including first questionand four other questions.
s First question carries 20 marks and each of the other questions carries 10 marks.

i. (i) Classify compuiers into two types accordifig to/thel® purpose.
(i) G.C.E. (Ordinary Level) candidates can obtain, their sxamination resulis from the website of the
Department of Examinations. When the Index Number is entered to the data entry form of the website,

the system validates it. If it is valid“djen the results will be retrieved from the database and displayed

on the screen. Write the input, procesé and output for this scenario.

(iti) Copy Table A and Table Begiven below into your answer script and draw arrows between matching]

items of Tabl@ A and TableyB.

TableyA . Table B
Emdil address www.google.com
URL Internet Explorer
1P “#ddress o ‘- Google
Search Engine. . 172.16.12.1
Web Browser _ exams @doencts. 1k

(i WWtite the Boclean expression io represent the following logic circuit. Shmplily your answer.

D e
el A ~
" rd ~

ey M‘_..!
S . @

(v) Character encoding schemes are used to represent symbols within computers. The number of symbois
iepresented in,a computer depends op the number of bits used for the encoding scheme. How many
different symbols could be representéd using eight (8) bits? Show your coimputations.

]

L. . . . .

(vi} Convert hexad&cimal pumber €9 inte binary. Show your computations, %

¢ G i S 3 . o

(vil) You ave‘piven the following logie circuit where the input B is a binary value. The ouipui of the logic

cirenit s eithds O or 1 depending on the input. Modidy the logic circuit Yy inserting an appropriate
spduce 1 irrespective of the input value of B

e
Lhd

Ingic gate in o suitable

{see puge seven
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,) Consider the following three statements:
e A 2D animation file has a @ extension but when it is exported as a movie file it has a
' extension. _
e In graphic editing software the working area is commonly referred to as the @ .
o In-graphic editing software the @ can be used to select similar coloured areas. 4

Select the appropriate words for @,,@and@ from the list given below.

* timeline # fla
* swf # lmport g
# canvas # magic wand

(ix) Consider the set of integer numbers $ = {2, 3, 4, 5, 6,7, 8, 9, 10}, The foIIowmg pseudo code calcuiates
the total of the even:numbers of the set S. \
Copy the pseudo-cdde to your answer script and complete the blanks.

Begin
Set Total to zero
For {Counter = ......... To s SED vvevanens 9§
Total = .oocviivenins . |
Next Counter ' oy
End '

(x) State four requirement gathering techniques used imySystem Development Life Cycle {(SDLC).

‘Consider the following workshect on drug pricesqptgpared according to a newspaper advertisement.

A I B J ¢c N o [ & [ F | & | ¢
: Why Pay More?
Same drug Is avaflable in different names at different prices
Frice in {Frice’in Price
Neme of drug Ganeric  |branded Difference
3 name_  |name
4 |Paracatamoal fs0.40 |  Rs2.75
5 |Amoxicitin 250mg Rs2.00 | Rs12.65
6 |Salbutamol 2mg Rs0.20 | Rs1.50
Ibuprofen 200mg Rs0.40 ¢ Rs2.40
DichofenaeMNa $0mgj  Rs0.60 | Rs31.20
Total ]
gl i
fido bbb Bheetd Sheat?-  Sheetd /. A , _
(i) Suggesi the most appropriate chart type available in-spreadshoet Softwars, w show 1wo puics of ail :
five drugs along with the name of drug. -
(ii) Write the required formula in cell D4 to show the price difference of Paracetamol,
(price difference = Price in branded name - Price in Generic name)
fiii) If the formula entered in cell D4 is copied to cell D‘S how would the formula appear in celi D5 :
e i
@v) Assuming the cells D4, DS, D6, D7 and D8 contain pm(.e differences, write the formula to calculatle ’;‘
" thé total of the price d:fference.s for the five drugs in delf D% You may nse the function SUM, in PR

R YOUr answer. . ; -
: . .,',.- N . ) ) o : H ) ¢

- [see page_‘ég;éii !



https://www.ict-with-udula-priyankara.online/

()

Full : Date of Address Subject Subject

Name _ Birth : D : Name
311111 Raj Kumar 12-09.1977 45 Kalutara Road, Kalutara 0L.2020 ICT
222222 Nuha Jamil 24-12-1980 20 Royal Gardens, Colombo | QL1010 Séience
522222 Nuha Jamil 24-12-1980 20 Royal Gardens, Colombo | OLIG30 Mathematics

;f‘here is one specific teacher for each subject. One teacher can teach more tHad.one subject,
) Explain “data duplication” using the above example table. ‘

R

i) - Identify the most appropriate data types to represent cach -df thefields in the above table.

e

.‘3.:"'i(ii)" Briefly explain the following:

_Explain briefly why data duplication should be avoided.

© A

Assumé that you have developed the HTML content for the website of your school on your home computer,
Write down the steps requited to publish the websitéhfor public access.

(ay Digital Divide
{0y Encryption Y 4
(c)y Firewall -

e

An Electridity Meter Reader reads the métess of fifty (50) houses a day. If he has access to the meter
at a house, he takes the reading, caicilates the bill amount and hands over the bill to the household,
If he does not have access togthe meter Ywhen the gate is closed) he calculates the bill with an estimated
number of units and keeps theN\DWL 4D order to-be sent by post. '

Write down the appropriateylabels to fill the blanks (&) to (f) in the given flowchart.

START

k4

Ti is mot necessaryto copy the
fiowchart into your angwer gcript,

' No of househiolds =0

PN (=) |
Get estimated number of units, Get meter reading.
# Calculate electricity bill. Calculates electricity hill,

1

\

[} A
-

Mo of households = ,..(D.,. + I '

onsider the following table containing information of teachers in a school. :- : k

W
N
R
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(b) ‘A teacher distributes text books to a class. First, teacher finds the number of students from the: c]ass register.]
Each student’s name is called, if present, books are issued and a record is made to indicate that the books
have been issued. If the student is absent, a record is made that the books have not been issued. The
process is repeated for all the students. Write the pseudo code for the above scenario as indicated in

the flowchart below.

You may use the keywords: . _
‘INPUT’, ‘PROCESS’, ‘DISPLAY’, ‘BEGIN’, ‘END’, ‘DO-WHILE' and ‘TF-THEN'.

( START )

Get number of students 1
Student_count =0

Student_count <n? - ; l

» ar ol il ¥ - e s
Behmont student’s namc

L

Student is present?\

Yes

Write “Absent” m the file WrE'_tI: ?%?g?rigc;glésm e

Student_count = ‘Stu‘u‘.{mt__cmmt +1

(i) A shop™Selling handicraft items considers starting an online business.

(a) Lisigthree advantages tbe shop would gain by selling online.

{b) List #wo methods of prDi;Qctmg the information of the online store froin unauthorizeal access.
{c} Briefly explain fwo methoa.; that would promots the website among cusrormers. RS

(i) Assume that one of your’f pncles have decided to use online shopuing and agks your ;ﬁw"ﬂ m\‘mfﬁ
online shopping. List three, recommendations you would give him, <

(i) Vimal studies abroad. His parenis comtnunicate with him by sending letters through postal service. He
told his parents that it is easier and cheaper to communicate through email.

(a) List two other methods h1s parents could us¢ to communicate with Vlmal using the Tuternet,
{b) List three advantages mucommumcatmg via emaﬂ instead of t1ad1t10na1 postal mail 'sc-wvwe

(i1} Assume that you are plannmg fo replace the existing ijmrv Informaiion System of yeuwr cghno' w1ch

a Web based system. ' : . i

[3

“{a) Write three aspecis you Wouid consider ‘in rwrk-r 10 ensure thet the new sysieny i<

(h) Which implementation method out of direct and parallel would be most appropiate oy ihe
library aystun? Justify your answer.
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